ERLAE! HAIS TR, AE MIAIS} R
HIQIZIA OIEIX ZEix, Hlo| o

=25 *a““/lila OIUIII

N

7,

T
hid

for electrics

© HEINRICH KIPP WERK GmbH & Co. KG

HEJ} QY= AR 2 A

04274
=

ks

HE&3:

ol Al Eaixie 53 Eo2 Qs 23 {IxI7} Hate W8 Wxlsok
st 2ol AF2EIL|CH ™ 2

= O|Eo|- = ol&LCt.

YAlZtol 2™ &= ES 20{0k 5t H =z EO| &S YXIaHok 5t
FollE B C EE B DE A8

AEf M7 QlE Qe A Z2HK{0IAM ZHS AEHE Ao Z Q14504
H& MElg £ 9

EM OpR2]:

AE| &S

LIAF &2l2, AH As * 2.

KI-:I. ‘\il 7=|2|. K.lEl O=||:||. al 7 -| AI_}§|. i.lEl

AHQIEIA AT HH:
LEAF &I, R X2
a2, Zat

SRR LT

HH.

HEf MME S-1mm AEZ3 9 HEE|H MEELICH
7|= Hlo|E:

Y MA:

£33 3|Z: PNP H47|(NO)

itE MO 6-30VDC

s F <100 mA

ﬁolé |_|-7=| 1 mm

A Q& F7]: <4000 Hz
== N A=

O=I:I.A-| HE: OI%

23 52:IP67

A 8. 2mPVC #Holg
25 22 -10° C ~ +70°C
49l CE, c-UL-u, EAC

o|=:

AE) M7 /e 2l

L|C}. &t QF:.‘ Elo| Hot= =& dEfof k= 7/1% 23e = sl
Ct.

AL
E4 MA HE.

OFx{.

e b o

S MM} U QIEA BRXIE Q1% obF )50l Matstxl etaL
ct

www.kipp.com - info@kipp.com 1/3



°
=ZalAEI] A3 A X Ol— AEISS A
ZolAE HAES JE, AFE MIM QI EIZ LHEJI U= 2E =2 A
A CllA = = b/ |
E|Q1g|A QIHA ZRiX], H|0|= H&E
=S MdYH/XIE olo]x|
El B: &2 €% 3, 7I2E HE US
ElQ C: &3 &R UZ, 7I2EH HE gi8
Etl D: &3 &R US, FHRE HE US
P = 70| Z0|
BN = ZHA4
BK = &4
BU = M
=
© D2
|
A | ! 1
SW1
“ |
N
| T\ o
] ' D3
. |
- El ,
| B ;
b poo ' I
-0,04
D1
EZ=S 29
FEHS Ef2] EA AME =2 E D D1 D2D3 L L1L2L3 AEZ3 SW1 Fx30° P AIEF Bt
S EFN =
F12 N F22.N
K1744.31051 ¢ AEl Zst 5 M10x1 25245117 7 15 5 13 1,3 2000 5 12
K1744.32061 c AE Z#Ast 6 M12x1,5 25 2,45620 8 17 6 14 1,8 2000 6 14
K1744.33081 c AEl Zs 8 M16x1,5 33 2,4 74 26 10 23 8 19 2,3 2000 15 35
K1744.34101 c AE Z3 10 M20x1,5 33 2,4 80 28 12 25 10 22 2,8 2000 15 34
K1744.34121 C AEl A3t 12 M20x1,5 33 2,4 84 28 14 25 12 22 2,8 2000 15 39
K1744.031051 C  AHQIBA AE! At 5 M10x1 25245117 7 15 5 13 1,3 2000 5 12
K1744.032061 C  AHIQIFA AR Z3t 6 M12x1,5 25 2,45620 8 17 6 14 1,8 2000 6 14
K1744.033081 C  AH[QIFA AE Z3 8 M16x1,5 33 2,4 74 26 10 23 8 19 2,3 2000 15 35
K1744.034101 C  AH[QIFA AE Zs 10 M20x1,5 33 2,4 80 28 12 25 10 22 2,8 2000 15 34
K1744.034121 C  AHIQIFA AE A3 12 M20x1,5 33 2,4 84 28 14 25 12 22 2,8 2000 15 39
K1744.132061 C  AHIQIBHA ARl H|AS 6 M12x1,5 25 2,4 5620 8 17 6 14 1,8 2000 6 14
K1744.131051 C  AE|QEA AR HIZE 5 M10x1 25245117 7 15 5 13 1,3 2000 5 12
K1744.133081 C  AH[QIBA AR H|AS 8 M16x1,5 33 2,4 74 26 10 23 8 19 2,3 2000 15 35
K1744.134101 C  AH[QIEA AR H|AS 10 M20x1,5 33 2,4 80 28 12 25 10 22 2,8 2000 15 34
K1744.134121 C  AH]QIBA AR H|ZASE 12 M20x1,5 33 2,4 84 28 14 25 12 22 2,8 2000 15 39

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/3



ECI2E HM;Z! g, &
EfQI3)| 2 O1EA S5

ES 9%

'“0-.-

Ef MM Q} &= HETU

EEE

© HEINRICH KIPP WERK GmbH & Co. KG

rir

|>
um
Jpo
rio

>

www.kipp.com - info@kipp.com 3/3



